4. Solving the simple word problems: Try to use proper visualization of the word

problems.
a) Patrick had 13 beads, Tom had 5 beads more than Patrick. How many beads did Tom

have?
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b) Try to think up tasks for the following pictures:
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¢) Grandma had 12 candies and gave it out to three children evenly. How many candies
did each child receive?
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d) Philip had 12 candies, Chistopher had three times less candies than Philip. How

many candies did Bhilip have?
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Composed word problems

e) Patrick had 13 beads, Tom had 5 more beads than Patrick. How many beads did they

have together?
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f) Patrick had 5 beads less than Tom, together with Tom they had 31 beads. How many

beads did Tom have?
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g) Mark and Therese together saved 250 crowns. Therese saved 50 crowns more than
Mark. How many crowns did each of them save?
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h) There were 260 t of sand on three piles. On the first pile there were 35 t of sand more
than on the second pile. On the third pile there were 60 t less then on the second pile.
What amount of the sand was on the single piles?
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Word problems with distractor

5. Try to use proper visualization of the following word task with distractor:
a) Roman has 15 cars, and that is three times more than Peter has. How many cars

does Peter have?
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b) Together, Roman and Peter have 20 cars. Peter has three times less cars than Roman.
How many cars does each of the boys have?
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